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MPI OCOOOOO MPI/Pro0MSTI 00O 80000 OCOOO0OOOOOOOOOOO
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PROGRAM MPItest

o |
CiHt HHt
Cit Program : MPIltest.for #Ht
Citt it
Cit 2002-MAR-06 by Katsuyuki Kawamura (TITECH) #t
Citt it
o |
o
include ‘“mpif.h" ! include file
integer status(MPI_STATUS_SIZE) 1
c
common /datai/ pi,range,delta,resulti,result0
real *8 pi,range,delta,resulti,result0
o
o MP1
call MPI_init (ierr) 1000
call MPI_Comm_Rank (MPI_COMM_WORLD, myrank, ierr) 1gp000Doooo
call MPI_Comm_Size (MPI_COMM_WORLD, mpsize, ierr) 100000000
c
if (myrank.ne.0) call proci (myrank, mpsize) I'myrankO 0OOOODO
c '0000o0ooooon

CALL KCLOCK (IYEAR, IMONTH, IDAY, IHOUR, IMINUT, ISECND, 1100TH)
WRITE (*,4001) [IHOUR, IMINUT, ISECND, IYEAR, IMONTH, IDAY
4001 FORMAT (" Started at ",12,°:",12,":",12," on ",12,°/",12,"/",12)

write (6,*) "Number of CPU""s =",mpsize

C

c Integration of sin(x), x=0 to 2.pi
pi = 3.141592654D0
range = 2*pi / mpsize
delta = 0.00000001D0

call MPI_Bcast(pi, 1,MPI_DOUBLE_PRECISION,O,MPI_COMM_WORLD,ierr) !'mO0000O0OO
call MPI_Bcast(range,1,MP1_DOUBLE_PRECISION,O0,MPI1_COMM_WORLD, ierr) 10000000
call MPI_Bcast(delta,1,MPI_DOUBLE_PRECISION,O0,MP1_COMM_WORLD, ierr) 10000000

write (*,8801)
8801 format (" MPI_Bcast sent data to processes”)

uo



call calc (myrank, mpsize)
result0 = resulti
write (*,8901) icp,result0

receive results from CPU"s

if (mpsize.gt.1) then
do 190 icp =1, mpsize-1
call MPI_Ssend (icp,1,MPI_INTEGER, icp,icp, MPI_COMM_WORLD,ierr) 1go0ooo
call MPI_Recv (resulti,1, MPI_DOUBLE_PRECISION, icp, icp, 'ogoo0oooo
* MP1_COMM_WORLD, status, ierr) 1
write (*,8901) icp,resulti

8901 format (* MPI_Recv received results from *,i2,3x, f16.12)

result0 = result0 + resulti

190 continue

write (6,*) "Result=",result0

end if
call MPI_Bcast (-9999, 1, MPI_INTEGER, O, MPI_COMM_WORLD, ierr) 1J0000oo
call MPI_Finalize (ierr) 'gpooooooo

CALL KCLOCK (IYEAR, IMONTH, IDAY, IHOUR, IMINUT, ISECND, 1100TH)
WRITE (*,4002) [IHOUR, IMINUT, ISECND, IYEAR, IMONTH, IDAY

4002 FORMAT (" Finished at *,12,":",12,":%,12," on *,12,"/",12,7/",12)

STOP
END
o
C
C ========
C proci
SUBROUTINE proci (myrank, mpsize) 1000000000
o '000000
include “mpif.h"
integer status(MPI_STATUS_SIZE)
C
common /datai/ pi,range,delta,resulti,result0
real *8 pi,range,delta,resulti,result0
c
call MPI_Bcast(pi, 1,MPI_DOUBLE_PRECISION,O,MPI_COMM_WORLD,ierr) 'mO00O0O0O0
call MPI1_Bcast(range,1,MPI_DOUBLE_PRECISION,O0,MPI_COMM_WORLD,ierr) 000000000
call MPI_Bcast(delta,1,MPI_DOUBLE_PRECISION,O0,MPI_COMM_WORLD,ierr) 000000000
c write (*,*) myrank,pi,range,delta
c
call calc (myrank, mpsize)
c
call MPI_Recv (iii, 1, MPI_INTEGER, 0, myrank, MPI1_COMM_WORLD, 1Jo0000oo
* status, ierr) 1
call MP1_Ssend (resulti,1, MPI_DOUBLE_PRECISION, O, myrank, 100000
* MP1_COMM_WORLD, ierr) 1
c
call MPI_Finalize (ierr) 'Jpo00ooooog
STOP
END
c
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C =======
o calc
subroutine calc (myrank, mpsize)
o
common /datai/ pi,range,delta,resulti,result0
real *8 pi,range,delta,resulti,result0
c
real *8 x1,x2,Xx,y
c
resulti = 0.0D0
x1 = range * myrank
X2 = range * (myrank +1) - delta
write (6,*) "range”,myrank,x1,x2
do 10 x = x1, x2, delta
y=(sin(x)+sin(x+delta))*delta/2.0D0
resulti = resulti +vy
10 continue
c write (6,*) myrank,resulti
return
end
o
o
C ========
o KCLOCK
SUBROUTINE KCLOCK (IYEAR, IMONTH, IDAY, IHOUR, IMINUT, ISECND, 1100TH)
PARAMETER (LNI=32109, LTB=2504, LEL=8, LEM=10, LCT=2000000,
* LSR=1254, LEE=LEL*(LEL+1)/2, L50=LCT/50+1,
LAA= 172, LNV=9876, LEF=LEM*(LEM+1)/2, LST=32,
LAT=LAA*4, LVA=24+LEM*2, LRG=LNI*5 )
o
COMMON /CHARAC/ TITLE(15),RUNOPT(53),ATOM(LEM),ATMNET(2),
* ATMXTL(LAA) ,FLNAME(19)
CHARACTER *4 TITLE,ATOM,ATMNET ,ATMXTL
CHARACTER *10 RUNOPT
CHARACTER *25 FLNAME
o
integer*4 1YEAR, IMONTH, IDAY, IHOUR, IMINUT, ISECND, 1100TH
character Adtval(3)*12
integer Idtval (8)
c

Call DATE_AND_TIME(Adtval (1),Adtval (2),Adtval(3), Idtval)

IYEAR = mod(ldtval(1),100)
IMONTH = Idtval (2)
IDAY = ldtval(3)
IHOUR = Idtval(5)
IMINUT = Idtval(6)
ISECND = Idtval(7)
1100TH = Idtval(8)
RETURN
END
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